= AH O
N = 0 &8 AF S & Al A
20109 = 20Aa LBHSIH MR ~ M2
2 MR
M X=THAD| Bt g
Rl Mg 2EHH=x (e
= T o = = 1 I|_-|LI;=|_||:_ =
2N -3 - c2(3H) - NEME - HES 0] AFCH Ol AF o8 Hns
M2 375,293 361,390 13,903
JNESYV PSIIRCIR== 297,383 287,530 9,853
Hz=&g ta3g3= 297,383 287,530 9,853
XNethden ¥ 2 112,460 180, 460 68,000
201 Lt AH| 100,760 168,760 68,000
01 AFR22(H] 60,760 88,760 /28,000
OXNEMENENBES+TE2 LR X
30,000,000& 30,000
OO0CRES DX A2 HY| 20,000,000& 20,000
OXEM DXAM oM 2,000,000& 2,000
OXNZMN E2 Ot I+ HZE 5,000,000& 5,000
OXEeAN EEE2 S4+2 M 2,500,0002 2,500
2AE ] ALY 1,260,000 1,260
02 2224 40,000 80,000 240,000
OMZ22XAN R2ER2 40,000,000 40,000
202 O4Hl 6,000 6,000 0
01 =2l 6,000 6,000 0
ONEYLRESHY 6,000,000 6,000
203 YR =& 5,000 5,000 0
03 AMZF=XHAR2FZXIY| 5,000 5,000 0
ONSR ANMFTH2FZRIH| 5,000,000 5,000
403 XX SHMEXN=0IH 700 700 0
02 ZI|I2SOICHSHCHEE AL I 700 700 0
OXIgA 29 =2H 23 700,000& 700
ANEAE 25 22 67,773 63,040 4,733
201 Yet2HH| 14,840 7,440 7,400
02 S=249h| 14,840 7,440 7,400
OXIEHAlL I 2142 ®AZHE S22 14,840
—HISFEAD| SXBS 320,000 «12& 3,840
-AZIIEXZI| |FAESH 600,000 600
-Al&ZH| R XY 5,000,000 5,000
~NHITEHI| R 200,000& x12& 2,400
-PDA 2% £2Hd |22 250,000 128 3,000
207 S RINH| 16,000 0 16,000
02 AN 16,000 0 16,000
OXNEMDXAASLIAIA Q)
16,000,000 16,000
403 XXISHSKE20E 36,933 29,720 7,213
02 ZBIIZSOICHSHCHEE AF I 36,933 29,720 7,213
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A MR

HE: NEWED G
Sl flasE LA (25 &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES O AF o8 il i~ o Hnz2
KA Mo 545 =3 72,600 0 72,600
201 Yer2 Y| 72,600 0 72,600
01 A2l 28,650 0 28,650
OIE=E-EXE-PaEN ] 4,000,0002! 4,000
OHEDXAN & LR etz
8,000,000 8,000
OXMLDNA R= 1,800,000 1,800
OMEASBHSTSI 4 X 350,002 350
OMLHE HY++E 10,000, 0002 10,000
ORSHYR L oM +YSK 7Y
4,500,0002! 4,500
2 ZZ2YH| 43,950 0 43,950
OMEZDNN L QU2 HLHEN SBR3
43,950, 00021 43,950
HHSAZH (M) 77,910 73,860 4,050
oIz 22| (M2 1) 4,200 4,200 0
=M Q1A (MR D) 4,200 4,200 0
203 PR =Y 4,200 4,200 0
M SASYAR=Y 4,200 4,200 0
OR N2 YL ETHI (3021015
350,000% 122 4,200
I ZH (M2 D) 73,710 69,660 4,050
JI2ZHI(M2D) 73,710 69,660 4,050
201 LBty 21,870 24,300 A2,430
01 At 21,870 24,300 A2,430
ORMeY AR 21,870,0002! 21,870
202 Oft| 51,840 45,360 6,480
01 2UhoiH| 51,840 45,360 6,480
OJI2Y R4 801H (272) 51,840, 0002! 51,840




